

IDENTITIES AND RELATIONS RELATED TO COMBINATORIAL NUMBERS AND POLYNOMIALS

YILMAZ SIMSEK

ABSTRACT. This paper presents some new families of special numbers and polynomials including the Euler numbers and polynomials, the Stirling numbers of the second kind, the central factorial numbers and the array polynomials. We give some properties of these numbers and polynomials with their generating functions. Finally, by using these generating functions with their functional equations, we derive some identities and relations related to these special numbers and polynomials.

2010 MATHEMATICS SUBJECT CLASSIFICATION. 12D10, 11B68, 11S40, 11S80, 26C05, 26C10, 30B40, 30C15.

KEYWORDS AND PHRASES. Euler numbers and polynomials, Apostol-Euler numbers and polynomials, Array polynomials, Stirling numbers, new families of special combinatorial numbers, Generating function, Functional equation.

1. INTRODUCTION

In order to give our paper new results including identities and relations which are associated with combinatorial numbers, the array polynomials, the first and second kind Euler numbers and polynomials and the central factorial numbers of the first kind, we need the following definitions, generating functions and relations.

The first kind Apostol-Euler polynomials of order- k are defined by means of the following generating function:

$$(1) \quad F_{P1}(t, x; k, \lambda) = \left(\frac{2}{\lambda e^t + 1} \right)^k e^{tx} = \sum_{n=0}^{\infty} E_n^{(k)}(x; \lambda) \frac{t^n}{n!},$$

($|t| < \pi$ when $\lambda = 1$ and $|t| < |\ln(-\lambda)|$ when $\lambda \neq 1$), $\lambda \in \mathbb{C}$, set of complex numbers, $k \in \mathbb{N} = \{1, 2, 3, \dots\}$. Setting $x = 0$ in (1), we have the first kind Apostol-Euler numbers of higher-order as follows

$$E_n^{(k)}(\lambda) = E_n^{(k)}(0; \lambda).$$

Setting $k = \lambda = 1$ in (1), we have the Euler numbers of the first kind

$$E_n = E_n^{(1)}(1)$$

(*cf.* [4]-[40]; see also the references cited in each of these earlier works).

By using generating function, we give few values of the Euler numbers of the first kind as follows:

$$E_0 = 1, E_1 = -\frac{1}{2}, E_3 = \frac{1}{4}, \dots$$

Observe that when $n > 0$, it is easy to see that

$$E_{2n} = 0.$$

The second kind Euler numbers are defined by means of the following generating function:

$$\frac{2}{e^t + e^{-t}} = \sum_{n=0}^{\infty} E_n^* \frac{t^n}{n!}$$

(cf. [4]-[40]; see also the references cited in each of these earlier works). By using this generating function, we compute few values of the numbers E_n^* as follows:

$$E_0^* = 1, E_2^* = -1, E_4^* = 5, E_6^* = -61, \dots$$

Observe that for $n \geq 0$, we have

$$E_{2n+1}^* = 0$$

and

$$E_n^* = 2^n E_n \left(\frac{1}{2} \right)$$

(cf. [?]-[23], [28], [33]; see also the references cited in each of these earlier works).

The second kind Euler numbers of negative order are defined by means of the following generating functions:

$$(2) \quad F_{E2}(t, k) = \left(\frac{2}{e^t + e^{-t}} \right)^{-k} = \sum_{n=0}^{\infty} E_n^{*(-k)} \frac{t^n}{n!},$$

where $|t| < \frac{\pi}{2}$ (cf. [5]-[40]; see also the references cited in each of these earlier works).

The λ -array polynomials $S_v^n(x; \lambda)$ are defined by the following generating function (cf. [30]):

$$(3) \quad F_A(t, x, v; \lambda) = \frac{(\lambda e^t - 1)^v}{v!} e^{tx} = \sum_{n=0}^{\infty} S_v^n(x; \lambda) \frac{t^n}{n!},$$

where $v \in \mathbb{N}_0 = \{0, 1, 2, \dots\}$ and $\lambda \in \mathbb{C}$ (cf. see also, [4], [6], [7], [11], [30], [31]; and see also the references cited in each of these earlier works).

In [32], we gave the numbers $y_1(n, k; \lambda)$ and $y_2(n, k; \lambda)$, which are defined by means of the following generating functions, respectively:

$$(4) \quad F_{y_1}(t, k; \lambda) = \frac{1}{k!} (\lambda e^t + 1)^k = \sum_{n=0}^{\infty} y_1(n, k; \lambda) \frac{t^n}{n!}$$

and

$$(5) \quad F_{y_2}(t, k; \lambda) = \frac{1}{(2k)!} (\lambda e^t + \lambda^{-1} e^{-t} + 2)^k = \sum_{n=0}^{\infty} y_2(n, k; \lambda) \frac{t^n}{n!}.$$

where $k \in \mathbb{N}_0$ and $\lambda \in \mathbb{C}$. By using (4) and (5), few values of the numbers $y_1(n, k; \lambda)$ and $y_2(n, k; \lambda)$ are given as follows, respectively:

$$\begin{aligned} y_1(0, 0; \lambda) = 1, y_1(0, 1; \lambda) = \lambda + 1, y_1(0, 2; \lambda) &= \frac{1}{2}\lambda^2 + \lambda + \frac{1}{2}, \\ y_1(1, 0; \lambda) = 0, y_1(1, 1; \lambda) = \lambda, y_1(1, 2; \lambda) &= \lambda^2 + \lambda, \\ y_1(2, 0; \lambda) = 0, y_1(2, 1; \lambda) = \lambda, y_1(2, 2; \lambda) &= 2\lambda^2 + \lambda \end{aligned}$$

and

$$\begin{aligned} y_2(0, 0; \lambda) = 1, y_2(0, 1; \lambda) = \frac{1}{2\lambda} + \frac{\lambda}{2} + \frac{1}{2}, y_2(0, 2; \lambda) &= \frac{\lambda^2 + 4\lambda}{24} + \frac{\lambda}{24\lambda^2} + \frac{1}{4}, \\ y_2(1, 0; \lambda) = 0, y_2(1, 1; \lambda) = \frac{\lambda}{2} - \frac{1}{2\lambda}, y_2(1, 2; \lambda) &= \frac{\lambda^2 + 2\lambda}{12} - \frac{2\lambda + 1}{6\lambda^2}, \\ y_2(2, 0; \lambda) = 0, y_2(2, 1; \lambda) = \frac{\lambda}{2} + \frac{1}{2\lambda}, y_2(2, 2; \lambda) &= \frac{\lambda^2 + \lambda}{6} + \frac{\lambda + 1}{6\lambda^2}. \end{aligned}$$

Replacing λ by $-\lambda$ in (4), then the numbers $y_1(n, k; \lambda)$ reduces to the λ -Stirling numbers $S_2(n, v; \lambda)$, which are defined by means of the following generating function:

$$(6) \quad F_S(t, v; \lambda) = \frac{(\lambda e^t - 1)^v}{v!} = \sum_{n=0}^{\infty} S_2(n, v; \lambda) \frac{t^n}{n!},$$

where $v \in \mathbb{N}_0$ and $\lambda \in \mathbb{C}$ (cf. [25], [30], [39]; see also the references cited in each of these earlier works).

By using (6), we give few values of the numbers $S_2(n, v; \lambda)$ as follows:

$$S_2(0, 0; \lambda) = 1, S_2(1, 0; \lambda) = 0, S_2(1, 1; \lambda) = \lambda, S_2(2, 0; \lambda) = 0, S_2(2, 1; \lambda) = \lambda, \dots$$

and

$$S_2(0, v; \lambda) = \frac{(\lambda - 1)^v}{v!}.$$

If we set $\lambda = 1$ in (6), then the numbers $S_2(n, v; \lambda)$ are reduce to the Stirling numbers of the second kind

$$S_2(n, v) = S_2(n, v; 1).$$

(cf. [3]-[40]; see also the references cited in each of these earlier works).

We ([32], [36]) investigated various properties of the numbers $y_1(n, k; \lambda)$. These numbers are related to the following combinatorial sum:

$$(7) \quad y_1(n, k; 1) = \sum_{j=0}^k \binom{k}{j} j^n = \frac{d^n}{dt^n} (e^t + 1)^k \Big|_{t=0},$$

where $n = 1, 2, \dots$ (cf. [12], [32], [36]).

We see that

$$S_2(n, v; \lambda) = (-1)^k y_1(n, k; -\lambda)$$

(cf. [32]).

Let a and b are real numbers and λ real or complex numbers. The numbers $y_3(n, k; \lambda; a, b)$ are defined by means of the following generating functions (cf. [33]):

$$(8) \quad F_{y_3}(t, k; \lambda; a, b) = \frac{e^{bkt}}{k!} \left(\lambda e^{(a-b)t} + 1 \right)^k = \sum_{n=0}^{\infty} y_3(n, k; \lambda; a, b) \frac{t^n}{n!}.$$

Note that there is one generating function for each value of k .

By using (8), we have

$$(9) \quad y_3(n, k; \lambda; a, b) = \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} \lambda^j (bk + j(a-b))^n,$$

(cf. [33]).

The central factorial numbers of the first kind, $T(n, k)$ are defined by means of the following generating function:

$$(10) \quad F_T(t, k) = \frac{1}{(2k)!} (e^t + e^{-t} - 2)^k = \sum_{n=0}^{\infty} T(n, k) \frac{t^{2n}}{(2n)!}$$

(cf. [3], [9], [10], [16], [40], [31]; see also the references cited in each of these earlier works). For $n, k \in \mathbb{N}$, we have

$$T(0, k) = T(n, 0) = 0.$$

Remark 1. *The central factorial numbers are related to the rook polynomials, which count the number of ways of placing non-attacking rooks on a chess board (cf. [1]). In the work of Alayont and Krzywonos [2]: the number of ways to place k rooks on a size m triangle board in three dimensions is equal to*

$$T(m+1, m+1-k),$$

where $0 \leq k \leq m$.

Remark 2. *In [9, Eq-(3.15)], Cigler gave the following formula for the numbers $T(m, k)$:*

$$(11) \quad T(m, k) = \frac{1}{(2k)!} \sum_{j=0}^{2k} (-1)^j \binom{2k}{j} (j-k)^{2m}.$$

The formal power series

$$H(t, k) = \sum_{m=0}^{\infty} T(m, k) \frac{t^{2m}}{(2m)!}$$

is the uniquely determined solution of the following differential equation

$$\left(\frac{e^t - 1}{e^t + 1} \right) \frac{d}{dt} H(t, k) = kH(t, k)$$

with

$$T(k, k) = 1.$$

Throughout this paper, we use the following notations:

$\mathbb{N} = \{1, 2, 3, \dots\}$, $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ and $\mathbb{Z}^- = \{-1, -2, -3, \dots\}$. Here, \mathbb{Z} denotes the set of integers, \mathbb{R} denotes the set of real numbers and \mathbb{C} denotes the set of complex numbers. Furthermore, $0^n = 1$ if $n = 0$, and, $0^n = 0$ if $n \in \mathbb{N}$.

$$\binom{x}{v} = \frac{x(x-1) \cdots (x-v+1)}{v!} = \frac{(x)_v}{v!}$$

(cf. [3]-[40]; see also the references cited in each of these earlier works).

2. IDENTITIES AND RELATIONS ON NEW FAMILIES OF NUMBERS AND
POLYNOMIALS

In [34], we defined the numbers $y_4(n, k; \lambda; a, b)$ and the polynomials $P_n(x; k; a, b, \lambda)$ by means of the following generating function, respectively:

Let $k \in \mathbb{N}_0$ and $\lambda \in \mathbb{C}$.

$$(12) \quad F_{y_4}(t, k; \lambda; a, b) = \left(e^{ta} + \lambda e^{bt} \right)^k \sum_{m=0}^{\infty} \binom{-k}{m} (a+b)^m = \sum_{n=0}^{\infty} y_4(n, k; \lambda; a, b) \frac{t^n}{n!}$$

and

$$(13) \quad \begin{aligned} \mathfrak{F}(t, x, k; \lambda; a, b) &= F_{y_4}(t, k; \lambda; a, b) e^{tx} \\ &= \sum_{n=0}^{\infty} P_n(x, k; \lambda; a, b) \frac{t^n}{n!}. \end{aligned}$$

Note that there is one generating function for each value of k .

By using (13), we have

$$(14) \quad P_n(x, k; \lambda; a, b) = \frac{1}{(a+b+1)^k} \sum_{j=0}^k \sum_{l=0}^n \binom{k}{j} \binom{n}{l} \lambda^{k-j} x^{n-l} (ja + (k-j)b)^{n-l}$$

(cf. [34]). Substituting $x = 0$ into the above equation, we have

$$(15) \quad y_4(n, k; \lambda; a, b) = \frac{1}{(a+b+1)^k} \sum_{j=0}^k \binom{k}{j} \lambda^{k-j} (ja + (k-j)b)^n$$

(cf. [34]). Partial derivative of the polynomials $P_n(x, k; \lambda, a, b)$ with respect to x is given by

$$\frac{\partial}{\partial x} P_n(x, k; \lambda, a, b) = n P_{n-1}(x, k; \lambda, a, b)$$

(cf. [34]).

The polynomials $P_n(x, k; \lambda, a, b)$ are related to following relation:

$$P_n(x, -k; \lambda; 1, 0) = \lambda^{-k} E_n^{(k)}(x; \lambda)$$

(cf. [34]).

By combining (8) with (12), we set the following functional equation, which gives a relationship between the numbers $y_3(n, k; \lambda; a, b)$ and the numbers $y_4(n, k; \lambda; a, b)$:

$$F_{y_3}(t, k; \lambda^{-1}; a, b) = \frac{\lambda^k}{k!} e^{kt(\frac{a+b}{2})} F_{y_4}\left(t, k; \lambda; \frac{a-b}{2}, \frac{b-a}{2}\right).$$

By using the above functional equation, we get

$$\begin{aligned} & \sum_{n=0}^{\infty} y_3(n, k; \lambda^{-1}; a, b) \frac{t^n}{n!} \\ &= \frac{\lambda^k}{k!} \sum_{n=0}^{\infty} \sum_{j=0}^n \binom{n}{j} \left(k \frac{a-b}{2}\right)^{n-j} y_4\left(j, k; \lambda; \frac{a-b}{2}, \frac{b-a}{2}\right) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 2.1.

$$y_3(n, k; \lambda; a, b) = \frac{\lambda^k}{k!} \sum_{j=0}^n \binom{n}{j} \left(k \frac{a-b}{2}\right)^{n-j} y_4\left(j, k; \lambda; \frac{a-b}{2}, \frac{b-a}{2}\right).$$

By combining (12) with (10), we set the following functional equation:

$$F_{y_4}\left(t, k; 1; 1; \frac{a-b}{2}, \frac{b-a}{2}\right) = \sum_{j=0}^k \binom{k}{j} (2j)! 2^{k-j} F_T\left(\frac{a-b}{2}t, j\right).$$

By the above equation, we obtain

$$\sum_{n=0}^{\infty} y_4\left(n, k; 1; \frac{a-b}{2}, \frac{b-a}{2}\right) \frac{t^n}{n!} = \sum_{j=0}^k \binom{k}{j} (2j)! 2^{k-j} \sum_{n=0}^{\infty} T(n, j) \frac{\left(\frac{a-b}{2}t\right)^{2n}}{(2n)!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we arrive at following theorem including a relation between the numbers $y_4(n, k; 1; a, b)$ and the numbers $T(n, k)$:

Theorem 2.2.

$$y_4\left(2n, k; 1; \frac{a-b}{2}, \frac{b-a}{2}\right) = (a-b)^{2n} \sum_{j=0}^k \binom{k}{j} (2j)! 2^{k-2n-j} T(n, j).$$

By combining (12) with (5), we obtain the following functional equation:

$$F_{y_4}\left(t, k; 1; \lambda; \frac{a-b}{2}, \frac{b-a}{2}\right) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (2j)! 2^{k-j} F_{y_2}\left(\frac{a-b}{2}t, k; 1\right).$$

By using the above functional equation, we have

$$\sum_{n=0}^{\infty} y_4\left(n, k; 1; \frac{a-b}{2}, \frac{b-a}{2}\right) \frac{t^n}{n!} = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (2j)! 2^{k-j} \sum_{n=0}^{\infty} y_2(n, k; 1) \frac{\left(\frac{a-b}{2}t\right)^{2n}}{(2n)!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we arrive at following theorem including a relation between the numbers $y_4(n, k; 1; a, b)$ and $y_2(n, k; 1)$:

Theorem 2.3.

$$\begin{aligned} & y_4\left(2n, k; 1; \frac{a-b}{2}, \frac{b-a}{2}\right) \\ &= \frac{(a-b)^{2n}}{(a+b+1)^k} \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} (2j)! 2^{k-2n-j} y_2(n, j; 1). \end{aligned}$$

By using (4) and (12), we get the following equation:

$$(16) \quad F_{y_4}(t, k; \lambda; a, b) = \frac{\lambda^k e^{bkt} k!}{(a+b+1)^k} F_{y_1}((a-b)t, k; \lambda^{-1}).$$

By using the above equation, we get

$$\begin{aligned} & \sum_{n=0}^{\infty} y_4(n, k; \lambda; a, b) \frac{t^n}{n!} \\ &= \frac{\lambda^k k!}{(a+b+1)^k} \sum_{n=0}^{\infty} \sum_{j=0}^k \binom{k}{j} (a-b)^j (bk)^{n-j} y_1(j, k; \lambda^{-1}). \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we give a relation between the numbers $y_4(n, k; \lambda; a, b)$ and the numbers $y_1(n, k; \lambda)$ by the following theorem:

Theorem 2.4.

(17)

$$y_4(n, k; \lambda; a, b) = \frac{\lambda^k k!}{(a+b+1)^k} \sum_{j=0}^k \binom{k}{j} (a-b)^j (bk)^{n-j} y_1(j, k; \lambda^{-1}).$$

We modify equation (16), we get

$$F_{y_4}(t, k; \lambda; a, b) = \frac{\lambda^k k!}{(a+b+1)^k} F_{y_3}(t, k; \lambda^{-1}; a, b).$$

By using the above functional equation, we get

$$\sum_{n=0}^{\infty} y_4(n, k; \lambda; a, b) \frac{t^n}{n!} = \frac{\lambda^k k!}{(a+b+1)^k} \sum_{n=0}^{\infty} y_3(n, k; \lambda^{-1}; a, b) \frac{t^n}{n!}.$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 2.5.

$$(18) \quad y_4(n, k; \lambda; a, b) = \frac{\lambda^k k!}{(a+b+1)^k} y_3(n, k; \lambda^{-1}; a, b).$$

Combining (17) and (18), we get the following corollary:

Corollary 2.6.

$$(19) \quad y_3(n, k; \lambda^{-1}; a, b) = \sum_{j=0}^k \binom{k}{j} (a-b)^j (bk)^{n-j} y_1(j, k; \lambda^{-1}).$$

Proof of (19) was also given in [33, Theorem 5].

By using equation (16), we also obtain the following corollary:

Corollary 2.7.

$$y_4(n, k; \lambda; a, b) = \frac{(2\lambda)^k (a-b)^n}{(a+b+1)^k} E_n^{(-k)}(bk; \lambda^{-1}).$$

Combining (3) and (12), we obtain the following functional equation:

$$F_{y_4}(t, k; -\lambda; a, b) = \frac{\lambda^k k!}{(a+b+1)^k} F_A\left((a-b)t, \frac{bk}{a-b}, k; \lambda^{-1}\right).$$

By using the above equation, we obtain

$$\begin{aligned} & \sum_{n=0}^{\infty} y_4(n, k; -\lambda; a, b) \frac{t^n}{n!} \\ &= \frac{\lambda^k k!}{(a+b+1)^k} \sum_{n=0}^{\infty} S_k^n \left(\frac{bk}{a-b}; \lambda^{-1} \right) (a-b)^n \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients of $\frac{t^n}{n!}$ on both sides of the above equation, we give a relation between the numbers $y_4(n, k; \lambda; a, b)$ and the array polynomials $S_k^n(x; \lambda)$ by the following theorem:

Theorem 2.8.

$$y_4(n, k; -\lambda; a, b) = \frac{(a-b)^n \lambda^k k!}{(a+b+1)^k} S_k^n \left(\frac{bk}{a-b}; \lambda^{-1} \right).$$

REFERENCES

- [1] F. Alayont, R. Moger-Reischer and R. Swift, Rook number interpretations of generalized central factorial and Genocchi numbers, preprint.
- [2] F. Alayont and N. Krzywonos, *Rook polynomials in three and higher dimensions*, J. Mathematics 6(1) (2013), 35-52.
- [3] M. Bona, Introduction to Enumerative Combinatorics, *The McGraw-Hill Companies, Inc.* New York, 2007
- [4] A. Bayad, Y. Simsek and H. M. Srivastava, *Some array type polynomials associated with special numbers and polynomials*, Appl. Math. Compute. 244 (2014), 149-157.
- [5] P. F. Byrd, *New relations between Fibonacci and Bernoulli numbers*, Fibonacci Quarterly 13(1975), 111-114.
- [6] N. P. Cakic and G. V. Milovanovic, *On generalized Stirling numbers and polynomials*, Mathematica Balkanica 2004; 18: 241-248.
- [7] C.-H. Chang and C.-W. Ha, *A multiplication theorem for the Lerch zeta function and explicit representations of the Bernoulli and Euler polynomials*, J. Math. Anal. Appl. 315 (2006), 758-767.
- [8] C. A. Charalambides, Enumerative Combinatorics, *Chapman&Hall/Crc, Press Company*, London, New York, 2002.
- [9] J. Cigler, *Fibonacci polynomials and central factorial numbers*, preprint.
- [10] L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, Reidel, Dordrecht and Boston, 1974 (*Translated from the French by J. W. Nienhuys*).
- [11] G. B. Djordjevic and G. V. Milovanovic, *Special classes of polynomials*, University of Nis, Faculty of Technology Leskovac, 2014.
- [12] R. Golombek, *Aufgabe 1088*, El. Math. 49 (1994) 126-127.
- [13] L. C. Jang and T. Kim, *A new approach to q-Euler numbers and polynomials*, J. Concr. Appl. Math. 6 (2008), 159-168.
- [14] L.-C. Jang, T. Kim, D.-H. Lee and D.-W. Park, *An application of polylogarithms in the analogs of Genocchi numbers*, Notes Number Theory Discrete Math. 7(3) (2001), 65-69.
- [15] L. C. Jang and H. K. Pak, *Non-archimedean integration associated with q-Bernoulli numbers*, Proc. Jangjeon Math. Soc. 5(2) (2002), 125-129.
- [16] J. Kang and C. Ryoo, *A research on the new polynomials involved with the central factorial numbers, Stirling numbers and others polynomials*, J. Inequalities Appl. 2014, 26.
- [17] D. S. Kim, T. Kim and J. Seo, *A note on Changhee numbers and polynomials*, Adv. Stud. Theor. Phys. 7 (2013), 993-1003.
- [18] D. S. Kim and T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse) 7 (120) (2013), 5969-5976.

- [19] D. S. Kim and T. Kim, *Some identities of degenerate special polynomials*, Open Math. 13 (2015), 380-389.
- [20] T. Kim, *q-Euler numbers and polynomials associated with p-adic q-integral and basic q-zeta function*, Trend Math. Information Center Math. Sciences 9 (2006), 7-12.
- [21] T. Kim, *On the q-extension of Euler and Genocchi numbers*, J. Math. Anal. Appl. 326(2) (2007), 1458-1465.
- [22] T. Kim and S.-H. Rim, *Some q-Bernoulli numbers of higher order associated with the p-adic q-integrals*, Indian J. Pure Appl. Math. 32(10) (2001), 1565-1570.
- [23] T. Kim, S.-H. Rim, Y. Simsek, and D Kim, *On the analogs of Bernoulli and Euler numbers, related identities and zeta and l-functions*, J. Korean Math. Soc. 45(2) (2008), 435-453.
- [24] D. Lim, *On the twisted modified q-Daehee numbers and polynomials*, Adv. Stud. Theor. Phys. 9 (4) (2015), 199-211.
- [25] Q. M. Luo, and H. M. Srivastava, *Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind*, Appl. Math. Compute. 217 (2011), 5702-5728.
- [26] H. Ozden and Y. Simsek, *Modification and unification of the Apostol-type numbers and polynomials and their applications*, Appl. Math. Compute. 235 (2014), 338-351.
- [27] F. Qi, *Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind*, Filomat 28(2) (2014), 319-327.
- [28] S. Roman, *The Umbral Calculus*, Dover Publ. Inc., New York, 2005.
- [29] Y. Simsek, *Special functions related to Dedekind-type DC-sums and their applications*, Russ. J. Math. Phys. 17 (4) (2010), 495-508.
- [30] Y. Simsek, *Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their applications*, Fixed Point Theory Appl. 87 (2013), 343-1355.
- [31] Y. Simsek, *Special numbers on analytic functions*, Applied Math. 5 (2014), 1091-1098.
- [32] Y. Simsek, *New families of special numbers for computing negative order Euler numbers*, arXiv:1604.05601v1.
- [33] Y. Simsek, *Computation methods for combinatorial sums and Euler type numbers related to new families of numbers*, Math. Meth. Appl. Sci. 2016, DOI: 10.1002/mma.4143, arXiv:1604.05608v1.
- [34] Y. Simsek, *New families of numbers and polynomials associated with λ -averaging type operators*, preprint.
- [35] Y. Simsek, *Apostol type Daehee numbers and polynomials*, Adv. Studies Contemp. Math. 26 (3), (2016), 1-12.
- [36] Y. Simsek, *Combinatorial applications of the special numbers and polynomials*, Permutation Patterns 2016, 14th International Conference on Permutation Patterns, Howard University, Washington, DC, USA, June 27-July 1, (2016), 116-120.
- [37] M. Z. Spivey, *Combinatorial Sums and Finite Differences*, Discrete Math. 307(24) (2007), 3130-3146.
- [38] H. M. Srivastava, *Some formulas for the Bernoulli and Euler polynomials at rational arguments*, Math. Proc. Cambridge Philos. Soc., 129 (1) (2000), 77-84.
- [39] H. M. Srivastava, *Some generalizations and basic (or q-) extensions of the Bernoulli, Euler and Genocchi polynomials*, Appl. Math. Inform. Sci. 5 (2011), 390-444.
- [40] H. M. Srivastava and G.-D. Liu, *Some identities and congruences involving a certain family of numbers*, Russ. J. Math. Phys. 16 (2009), 536-542.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE UNIVERSITY OF AKDENIZ TR-07058 ANTALYA-TURKEY; [HTTP://AVES.AKDENIZ.EDU.TR/YSIMSEK/](http://aves.akdeniz.edu.tr/ysimsek/)
E-mail address: ysimsek@akdeniz.edu.tr